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BFE IS % F as  E a5 IE &A & &A B as  IE
43 1&H = 1BIFARIEY S BT 3 14.250 1 14.000 1 12.000 3 14.050 1 54.300 1
33 FEH L= HIFREY 5 TF4 3 12.400 5 11.650 3 13.200 1 13.300 3 50.550 2
31 #E BT HIFREY 5 7F4 2 13.450 2 11.050 4 12150 2 13.450 2 50.100 3
42 #HHF fEx HIFAE ’7 SJmAwm &3 12.450 4 11900 2 10.800 6 12150 5 47300 4
47 BEE #%x HIFARRY S JHE k] 11.900 10 10.600 5 11.700 4 11950 7 46150 5
51 &HA EBKF HiFREY S 7% 3 13.250 3 9750 7 10.450 8 12100 6 45550 6
32 ED HME HIFREY 5 TF4 =] 12.000 9 8.050 11 11150 5 12.500 4 43.700 7
4 FE ¥R HIFRIEY S5 JHRE ==K] 12.050 7 9700 8 10.250 10 11.400 9 43.400 8
46 BX BE THIFARIEY S5 Tk ==K] 12.050 7 9.000 10 10.500 7 11.700 8 43250 9
50 BJIl HE HIFRIEY S T2 i1 12.300 6 10.150 6 8.700 12 11.300 10 42.450 10
48 ki 25 HIFRIEY S T2 1 10.950 11 9.650 9 10.450 8 10.800 11 41.850 11
39 B H/E NANAIRO{R#E Y S T =] 10.000 12 5.000 13 9.200 11 10.600 12 34.800 12
49 thH ¥BxE HIFRIEY S5 T2 2 9950 13 5700 12 8.650 13 8.300 14 32.600 13
45 BAE MEF HIFRIEY S5 JHRE 2 9.900 14 5.000 13 7.900 14 9.250 13 32.050 14
37 #J) B THOT4TRES ST i 9.300 16 0.900 15 6.050 16 6.200 16 22450 15
38 EMA ES TOT4TREVST w2 9.700 15 0.850 16 4600 17 6.550 15 21.700 16
36 FAl A= TOT4TRESST 9.300 16 0.700 17 6.350 15 5100 17 21.450 17




